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Math 120 Midterm Test 1  Sep. 28, 2007 50 min.

1. Each of these short-answer questions is worth 3 marks. If a correct answer is written in the
box provided, you get 3, otherwise you can earn at most 1.
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(d) For which integer values of & and b is the function
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(e) Find h'(1), if h(x) =
f(1)=2, f(1) =3, g(2) =1, and ¢'(2)
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2. Sketch the graph y = z*. Find equations for all tangent lines to this graph which pass through

the point (0, —48).
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Compute the derivative f'(x). Also, show that f'(x) = 0 for all z.
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4. Is the function
0 <0
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differentiable at x = 07 (Justify your answer.)
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5. Prove that the limit of a sum is the sum of the limits. That is, prove (using the definition of
limit} that if lim;_., f(z) = L and lim;_,, g(z) = M, then lim,_,[f(z) + g(z)] = L + M.
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